

Filing Receipt

Filing Date - 2024-03-13 03:53:46 PM

Control Number - 54683

Item Number - 91

DOCKET NO. 54683

APPLICATION OF ENVIRO-	§	PUBLIC UTILITY COMMISSION
MANAGEMENT FOR AUTH-	§	
ORITY TO CHANGE RATES	§	OF TEXAS

ENVIRO-MANAGEMENT'S SUPPLEMENTAL RESPONSE TO COMMISSION STAFF'S FIRST REQUEST FOR INFORMATION QUESTION NO. STAFF 1-9

Rate-Case Expenses

Staff 1-9

Enviro-Management is seeking recovery of its rate-case expenses related to this proceeding and submits this supplemental response with three additional receipts (FedEx) totaling \$150.90.

The total cost Enviro-Management is seeking in re-imbursement is \$10,478.29. There are 137 customers receiving bills. Per Rules and Regulations, Enviro-Management proposes a two year pay back. The breakdown is as follows:

\$10,478.29 divided by 137 bills = \$76.48 \$76.48 divided by 24 months = \$3.19 per bill

A Schedule of Rate Case Expenses by Month and additional receipts are attached. The compensation requested is reasonable and just.

In conclusion, Enviro-Management requests that it be granted this and any other relief to which it may be justly entitled.

Respectfully submitted,

Sheila Agnew Enviro-Management 2424 Sciaaca Road Spring, Texas 77373 281-353-9479

/s/ Sheila Agnew

DOCKET NO. 54683

ENVIRO-MANAGEMENT'S RESPONSE TO COMMISSION STAFF'S FIRST REQUEST FOR INFORMATION OUESTION NOS. STAFF 1-1 THROUGH 1-9

Schedule of Rate Case Expenses by Month

March	Research, gather paperwork, copies for supplements	
	hours 100 @ \$15.00 per hr. (accounting)	\$1,500.00
	Copies, postage (FedEx)	\$ 109.57
April	Enviro-Management's suppl. Response to order no. 2	
	hours 50 @ \$15.00 per hr. (accounting)	\$ 750.00
	Postage	\$ 42.05
Мау	Errata Notice to Customers	
	hours 20 @ \$15.00 per hr. (accounting)	\$ 300.00
	Copies	\$ 8.47
June	Enviro-Managements Response to Order no. 5	
	hours 150 @ \$15.00 per hr. (accounting)	\$2,250.00
	Copies, postage (FedEx)	\$ 57.30
July/Aug	Enviro-Managements List of Issues	
	Hours 50 hours @ \$15.00 per hr. (accounting)	\$ 750.00
September	E-M Response to Commission Staff's 1st RFI	
	Hours 100 hours @ \$15.00 (accounting)	\$1,500.00
	Copies, postage	\$ 60.00 estimated
	Estimated Cost Recovery not yet billed 200 hours	\$3,000.00 estimated
	Total & estimated rate case expenses	\$10,327.39
		+ 150.90
	'	10,478.29
_		

Rate-case expenses are estimated and not yet paid out. Sheila Agnew (myself) researched, pulled records and receipts and copied, and mailed, information needed for this rate-case. My past employment experience and titles include Accounts Receivable and Records Manager. The additional hours spent for the rate-case is in addition to other office duties. The compensation requested is reasonable and just.

Please be assured that the total amount provided in response to item (a) equal the total requested ratecase expenses

Aduness:

17855 JFK BOOLEVARD

HOUSTON

TX 77032

Location: Device ID: MIFCE -BTC02

Transaction:

940378200269

FedEx Priority Overnight

.Tracking Number:

784989941543

1.00 Æ (S)

50,30

Declared Value 100 heurpient Address

CENTRAL RECORDS

PUBLIC UTILITY COMMISSION OF TEXAS

1701 M CONGRESS STE 8-100

Austin, IX 78701

5129367000

Scheduled Delivery Date 10/13/2023

Pricing option:

ONE RATE

Package Information:

fieldEx Pak

Shipment subtotal:

\$50.30

Total Due:

\$50.30

Address:

17855 JFK BODLEVARD

HOUSTON

TX 77032

MIFCE

Device ID:

Location;

-BTC02

Transaction:

940388522492

FedEx Priority Overnight

Trācking Number:

270998567640

0.50 Ab (S)

50.30

50.30

150.90

Declared Value_

Recription - Address :

CENTRAL RECORDS

PUBLIC UTILITY COMMISSION OF TEXAS

1701 N CONGRESS STE 8-100

Austin, 7% 78701

5129367480

Scheduled Delivery Data 2/15/2024

Princips (parture)

SME RATE

Package Information:

Fedfix Pak

1304

951139872934

\$2.50

\$2.50

Shipment subtotal:

Merchandise taxable subtotal:

Tax(City): 1% Tax(TX): 6.25%

\$0,03

\$0.16

Tax(SC): 1% \$0,02

Total Due:

\$53.01

2855 JFK MOLLEYARD 940389562720 edtx Priority Overnight

Declared Value

Tracking Mumber

FamSact ions Device ID:

271547613132

PUBLIC UTILITY COMMISSION OF TEXAS 1701 N CONCRESS STE 8-100 AUSTÍO, TX 78701 CENTRAL RECORDS

obsounded Delivery Date 2/29/2024

Package Information; Priche opsion

Shipment subtotal:

03/27/23										Amount
	Entergy Se 10:9720570	rvices DES 0912 CCD	Bill Pay ID:7	77701589831	INDN:Enviro	Managen	nent - CO			-488.37
03/31/23_	Online Ban	king transf	fer to CH	Confirmatio	on# 442760314					
in the room	ESE EXXXX e de	300003000								
03/03/23	USPS PO 4	88565 03	3/03 #000528	154 PURCHAS	E USPS PO 48	356503	SPRING	TX		
03/08/23	CHECKCAR 9402 XXXX			650373 ŠPRIN XXX XX).	IG TX 2413	74630670) 01454	CKCD		-34.70
03/ <u>08/23</u>	COSTCO W	/HSE #1 0	3/08 #00042	8863 PURCHA	SE COSTCO W	HSE #118	9 CONROE	TX		-130,31
03/09/23	CHECKCAR 5943 XXXX			* #2093 SPRIN XXX XXXX ⁽	IG TX 2413	74630671 	0039(CKCD		-12.57
03/13/23			FFICE DEPOT (5704 XXXX X	" #2093 SPRIN XXX XXXX !	IG TX 2413	74630691	00442	CKCD		12.50
03/13/23	CHECKCAR 4215 XXXX			310020 MEM XXX XXXX	PH(5 TN 24	1640730 7	C7415	CKC	PUC PUC	-50,30
03/13/23	CHÉCKCAR 9402 XXXX			885659550 SF XXX XXXX .	PRING TX 2	41374630	700015	CK	2D	-4.78
05/20/23	COZICO A	VHSE#1 0	3/19 #00065	1154 PURCHA	SE COSTCO W	HS£ #118	9 CONROE	TX		-103.91
03/29/23	CHECKCAF CKCD 931			TY - CTYCLK F		2427074	308790			-17.00
ton Koopsi (Kato)	for send A co	reuns 8. A	MAKA MAKA	XXXX.				<u>:</u>		
,	ර්ථාවමන්ට නී					12.	_ { _ T	CORC.	۸	************
		-W IN	llastr	5		P	_ \	recej.	pt has I	pen
Date	Check #			Amount		Jate	Check	<i>#</i> V	_	Armouni
03/14/23	8427			-197.53		03/24/2	3 8428			-60.00
03/17/23				-191.53		03/24/2 Tota: 6				
03/14/23				-191.53		Tota: c				-60.00
03/14/23				-191.53		Tota: c	hecks			-60.00
03/17/23				-191.53		Tota: c	hecks		2/5	-60.00
					<i>V</i> 1	Tota: c	hecks		25 / 55 / 55 / 55 / 55 / 55 / 55 / 55 /	-60.00
03/17/23 		VARIE		1	exas	Tota: c	hecks		350 36	-60.00
3.5		ZREVARD	7	8	<u> </u>	Total (inecka 198 uzecka		1 1	-60.30
às dur		K BUTA EVAKID	1222	55.33	Ã	Total (inecka 198 uzecka			-60.30
ās Jūr		OFK BUTLEVAKD	032 	(8)	Ã	Total (inecka 198 uzecka			-60.30
as dur 30 30		855 JI-K BUJA EVAKIJ USTON	77032 FFCE FFC01 FFC01 FFC01 FFFC01 FFFFFFFFFFFFFF	b (8) 50.30	Ã	Total (inecka 198 uzecka			-60.00
Adi dur No. 17 Par		17855 JFK BUTLEVAKD HOUSTON	TX 77032 MIFCE -81001 940361101222	b (8) 50.30	Commission Of Tex s Sufte 8-100 1	Total (inecka 198 uzecka			-60.00
33 33 33 31 31 31		17855 JAK BUZA EVAKU HOUSTON	TX 77032 MIFCE -81001 940361101222	rright 1.05 lb (8) 50.30	ds y Commission Of Tax ess Su∜te 8-166 7701	Total (inecka 198 uzecka	1993 1993		-60.00
30 dur Vill Vill Port dec		17855 JFK BUTALVARD	TX 77032 MIFCE -81001 940361101222	rright 1.05 lb (8) 50.30	ds y Commission Of Tax ess Su∜te 8-166 7701	Total (ery Cate 3/10/2023	wait natu.		-60.00
Additional Control of the Control of		17855 GFK BUZN EVARU		rright 1.05 lb (8) 50.30	ds y Commission Of Tax ess Su∜te 8-166 7701	Total (ery Cate 3/10/2023	Promotinate		-6030 -325(35)
Additional design of the control of		17855 JFK BUTLEVARD	· =	rright 1.05 lb (8) 50.30	ds y Commission Of Tax ess Su∜te 8-166 7701	Total (ery Cate 3/10/2023	s insperiment non services and services are services and services and services and services are services are services and services are services are services are services are services and services are services are services are services are services are services are		-5030 -525 (.54
30 dur 30 47 Por ca.		Webresson 17855 GPK BUCKEVAKD HOUSTON	TX 7/032 Location: MIFCE Device ID: -81001 Transaction: 940361101222	rright 1.05 lb (8) 50.30	Recipient Address: Central Records Rublic Utility Commission Of Taxas 1701 N. Congress Suite 8-100 Augilia, TX 76701	Total (hecks	Package Internation:		-5030 -525 (.54

This has already been included + calculated Page 7 of 12 as Staff 1-9, pg 56